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Check the question paper for fairness of printing. If there is any lack of faimess

Instructions : (1)
inform the Hall Supervisor immediately. - ’
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
GOy : UGH-T (2u9A-greurelua), L@d-11 (e uif-alomducd) saflsseal allenLgarefia
aflen_wefl&sa|b.
Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate answer-
books.
Ll@é] -1 (&uﬂrﬂ-gnsunmﬁ]mab) /PART -1 (BIO-BOTANY)
(wlLiesraen : 35) / (Marks : 35)
ifley - 1/SECTION . 1
@By : ()  Sewedsl elamssE@EED ol usse,;, 8x1=8
Qer@ssiu-Qarer BTG LIbY ogy 5o g e FHUO

aflevLemwis CoipesEE5i5 GHLGLer o S Y

Note : (i) Answer all the questions. Dl enemuyb CoiEE! (P&

- iiy Choose the most appropriate answer frop, ) _ -
(ii) the option code and the correspondjng am$§r81V9n four alternatives and wrl

[ s / Turm OVl
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@Gﬁﬂuq UL Lrenfld ﬁﬂwgéﬁgjmm @mmul‘lﬁ Qg r@Hadr :
(=) 7 (&b) (@) 10 () 4
Linkage groups in Gweet ped *
(@) 7 ® 2 (© 10 (@) 4
Sreurruseflen @qﬂgc&ﬁém5$@ LM CIET Lwetu@ssiiu@®n @l gafuficn iama
(<=1) 3-10% (2)2-8% (8) 2-9% (Y2 - 10%
Solar energy used by green plants for photosynthesis is only
@ 3-10% b) 2-8% © 2-9% d) 2-10%

sranrUU (B eudlcen

EMmemr seaflseafled
(1) BCeramiL () eramrGLramiTL efleng (/F)  erinQamiy

Parthenocarpic fruits lack :

(b) Endocarp (c) Seed (d) Epicarp

(a) Mesocarp

ggien @nBlelw@uy Gsmflen uwpeap aapapls ANGQA5HES LwestL (H &1 -

uGEng ?
(<4) RNA (<) Ursid
Southern blotting technique is used to separate

(@) SUbE ) DNA

(a) RNA ()  Protein (c) Lipid (d) DNA

MEUTEV DM STEUTRIGET @ Q(mbg 2-(HeurssuuBdemmaern.

(<) yGrrCLmlerns UGy (=) 2. My euemitiy

(@) Qsédr Bzevau auaritiy (B 2 é@58 aeritiy
Virus-free plants are developed frop, -

(a) Protoplast culture (b) Organ culture

(c) Cell Suspension culture (d) Meristem culiure
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I(C) Forest Man of India movement  (d) Amirtha Dev! Bish
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a;rrpm_a;rraﬁ]sm il rengid GLEED Gipanay Ur@g;fr& |
|
(@,) SUECHT QussLd (=) ALCanr ‘@u_,g;& Gu - @u.hs&su) |
g6
(@) @B8w evan waflger GuEsD () DS (ggeﬁ ok s
ar
People’s movement for the protection of environment in Girst ©

. . 3 | _—
(a) Appiko movement (b)  Chipko mo _ovement

AP (S LR
QuLrClgaiediev (Pedogenesis) eremiig o L6 op

(<=1) 2uifigQsrens (<) anﬁbgﬂuﬂrﬂ Lig P

(@) war () i

- Pedogenesis refers to : |
(a) Population (b) Fossil
(d) Water

(c) Soil

YemeumeuameupmieT 67 Ll (i) ungmunﬂmgglﬁ)@ 2 GITERTOmGL ?

(21) CamLin’renfluflen safludler euigeuld

(<) Wymleev georur wafler Fimw

(@) wallsisaflar Game Hmid o
(%) e Caal 2 HusH

Which one of the following is an example of polygenic inheritance 7

(a) Pod shape in garden pea

(b) Flower colour in Mirabilis jalapa

(c) Skin colour in humans

(d) Production of male honey bee
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u@S - 11 (e 8f-600REw) / prpe_yy (B10-ZOOLOGY)
(00U aer 35) (Marks : 35)

Sifley - 1/ SECTION - 1
8x1=§

&mmg'gl Q(;IGDTW&&@{.B@LD Gﬁml-—u-]ﬂﬂﬁma_’m
oL@ G EICEA T GO @ Lar efenLudeneru|Ld Gersg

GT(PSHALD.

(i)  Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

(ii)
urefloGren sridlell eflenar, Qeutiulane wryum Lrd ppeny salsseaf] Henevsafled
Qgr_irdlenpg). igan cuflos : .
(=1) gpgeran Qoariy o USLLOSES®, 2 Husd, Guey Sl
(éé() Quay Ay, pseaew Qeoariy Qo usLLESSIED, 2-HUSS
(@) Quay Hfly, 2 Husd. Wseemn Gaerriy Gow LSILOSSGD
() epugdl, wsearaw Gemariy Gew USLILGSHSD, Qudl Sfly
PCR proceeds in three distinct steps governed by temperature, they are in order of :

(@) Primer Annealing, Synthesis, Denaturation :
(b)  Denaturation, Primer Annealing, Synthesis
(c) Denaturation, Synthesis, Primer Annealing

(d) Synthesis, Primer Annealing, Denaturation

reueuens QeuCLBEsES D Caumurpser Csmamid ?

(1) uralell @eriblumasi (<) senafl @an@UmEsID

(@) urelleniClumésio (7) (1) wHpd (=) Qraw@id
In which mode of reproduction, variations are seen ?

(a) Asexual (b)  Parthenogenesis

(c) Sexual (d) Both (a) and (b)
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Which of the following vule is used o caleulate the pumber of 1Y

(@ N1 Rule (M) Allen's Rule

\\‘\ N+ 1 Rule (‘I) ,'“l‘lllll\lﬂ |\'Illt‘

SR e . . . oy 3[[{_!."].
Wan kra“I-“M I Uhv\l\:" \‘\'\!Dlu];'f\hlﬂﬁ"l.l l-||'.}‘{h:'_lj| S eorand Gl:ﬂpllml @

‘ . 4 S i e L QT o &6l

o @Qutipnd Qe Hegd a@ia)sal U DGILJ(PEI: o
) . . . - h W ;-_ o 6ol md .
whnith wenuiLdh Hapsdar Gurapaal (o) 1.1 GooT @ H&sL)

Samhp 1
. L] L. ] leﬂu I é] X
Lresuild smiien aimfean soeilie (et ¢ L3 LerLGERpear,

(] 2 '
i . e . : ot YLANIA
sappi 2 Gopsdlu o@aibgib S Lo () e g ULt GoudlLilLimmer
SOUILEAT |@LD.

() sappy 180 D@D FaDOI 2 S,

(<o) Empysat 1 wopmid 2 aifl. Gogid sapg 2 Sapm 1 -HET gilwrer elleTésiomELb.
(Q) sppuset 1 wpmid 2 QranHiGo gaprarmal.

(/) Sapmusat 1ommid 2 &ifl. LD Sapm 2 Sam 1 -HSTeT gflwren ellendsidlcena.

Read the given Statements and select the correct option.

.

Statement 1 Diaphragms, cervical caps and vaults are made of rubber and are

inserted into the female reproductive tract to cover the cervix before
coitus.

Statement 2 They are chemical barriers of conception and are reusable.

(a)  Statement 1 is correct but Statement 2 is incorrect,

(b) Both Statements 1 and 2 are correct and Statement 2 is the correct explanation of

Statement 1.
(c) Both Statements 1 and 2 are incorrect.

(d) Both Statements 1 and 2 are correct but Statement 2 g not the correct cxplﬂ“"‘ﬁon of

Statement 1.
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Tan oyanlps&sUIU .
it i i (<) sriu@Ld Hpen
(1) 2 ufiars S L |
= () sHDIEGS FoLGEr
nditions

(&) fpGanpp®
Juctive capacity of an organism under optimum environmental co
L

The maximum repro
is called —
(a) Biotic potential (b)  Carrying capacity
(d) Environmental resistance

(c) Capacitation
Cllogeger HMILD aLré Gersoan Bl Aling, -

(<21) g.erem.ar @ oUALITHET

()51 sgis wIPHLD
) urd Lepwer 8550 P@D DNA @7y linge

() Ggmpp wrppid
Meselson and Stahl's experiment proved
(a) DNA is the genetic material

(b) Transduction
(c) Semi conservative nature of DNA replication

(d) Transformation

Sipsaan_eupmidr ahs mamamyud Aesmfipsroasaie dlfs ol 2 Husdss
vweru®Emg ?

(=) Sevureleean DBt
(&) orGemuah epéflser (m) Quafdawid ApManid

(=) rsGLrCudloedy LhsThsa

Which of the followi i S

ic owing MICro-organism is used for production of citric acid in industries ?
a) Aspergillus niger
(@) P & (b) Lactobacillus bulgaricus

(c) Rhizopus nigricans
(d)  Penicillium citrinum
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QenadrRarang).
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o) SR DD snpessid QUabd & srrewnd SahpileT gilwimest
W sabay wdpd snpemid Qe seuprateney .
Y samny odond sngssmd Qrarid sflwrareney ST SHATETEILD &alD

sﬁlm&&w %@L‘D

tﬂsiﬂ Fhlwirey

aardsd Qaa
Assertion (A) Head of the sperm consists of Acrosome and Mitochondria.
Reason (R) : Acrosome contains spiral rows of Mitochondria.
@) (A) s true (R) s false,
(M (A) and (R) are true, (R) is the correct explanation of (A).
() Both (A) and (R) are false.
W) (A) and (R) are true. (R) is not the correct explanation of (A).
Wifley - 2/ SECTION - 2
@O0y @ Shsrand Aarssalld oG BrenE clamssE@séE aflenLwiafi&seyid.

Note: Answer any four of the following questions.

4x2=8

o, Qued&rar wrupnuGursd TEMTD cravar ?

-

What 1s mass extinction 7

10, copawrar sarafl Qaupsssas wpwowhn saell QariCumsssSelmbs

CapuPsss.
Ditterentiate Complete parthenogenesis from Incomplete parthenogenesis.

11. SNurEsd §ms

() ZIFT (<) 1CSI
Expand the following :
(@0 ZIFT

palls wruay Qsreds L sdan At wdyss TCsad Qreimg eeand GHLIGS

(h) 1CS]

12. .
State anyv two salient features of Human Genome project.
13, @wUQUTES e DUUSST TP rere ? TOSHESTLH sms.

- - = D e »am "llt’.
What are holnolosnub organs Give an examg

- ~ 4 . ¥ & .’ Gr&.Tm ?
14. APSITOW PRSI Qansallen crammra
: e
What is pre-pro insulin ?
ver
¢ Qanous / TV O
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